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Pensieve header: Unitarity for Mcalculus - finding the ${\mathcal L}_0S for which $\bar{A}={\mathcal
L}_OAS.

in[-]:= SetDirectory["C:\\drorbn\\AcademicPensieve\\Projects\\MetaCalculi"];
Once[<< KnotTheory" ]

Loading KnotTheory™ version of February 2, 2020, 10:53:45.2097.
Read more at http://katlas.org/wiki/KnotTheory.

Roki N Rob /\/3[
Too 15 haehis m

T, 1-T
nl-1= Rq,p i=T@<|g - {tg, ty, hy, hb},w—>1,c-»ha+hbT,,,)L—>{t,,,tb}.(0" 1").{h,,, hp} 1>

- LD B
Rs ,» = T@<|¢c > {ty, tg, hy, hg}y, w1, c"ha"'hbTal: A - {tg, tb}-[ ; 1a J-{ha: hy} >3

In[«]:= E]_,Z

Out[«]=

r[(’g—mtz, ty, hy, hi}, o1, 0o hy+—, Ao h, [t2+t1 [1-)] . M
T1 T1 T1

in[-1:= Tla_ ][x_] :=alx];
r[a ][S] :=UnioneCases[a[c], t, = a, o|;
T'[a_][n] :=Length[T[a][S]];
T[a_]1[Z] := (6h,aloc]l) & /@ T[a][S];
r[a_][A] := Outer[Factor[d.;,..T[2][A]] &, Cases[a[c], t_|, Cases[a[c], h_]];

mi-1- Table[{yec, y@uw, y@o, y@X, y@S, y@Xz, y@A // MatrixForm}, {v, {Ri,2, R1,2}}] // Transpose //

MatrixForm
Out[+]//MatrixForm=
{t1, t2, hy, hy} {t2, t1, hy, hy}
1 1
h1 + h2 Tl hl + ﬁ
T1

hy (et (1-T)) +hitaTy hy (tprty (1- 7))+ 25

{1, 23} {1, 2}

1
(1, Ty 1. 2}
T, 1-T, 1 9
( 0 1 ) -1+T, 1
Ty T1
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in[-]= TCollect[y I'] := I‘[(lc - y@c, w - Factore y@w, o » Expande y@o,
A - Total[CoefficientRules[y @), y@c] /. (ps_ -~ c_) = Factor[c] Timesee ((r@c)™)]|>]

in[-]:= T’'Collect [EI,Z]

Out[«]=
h; hit;y hyty (-1+Ty1)
T[<’C%{t2,t1,h2,hl},(uﬁl,o'%h1+*,)\%h2t2+ + ’)}
T1 T1 Ta
i1~ ConservativeQ[y ] := Simplify[Expand[y@X /. h 1] =Sum[t,, {a, y@S}]]
in[-1:= ConservativeQ[R;,]
Out[e]=
True
nf-]= T*Ar= Tl
(c_, d_). := ExpandeModule[{e, f},
Expand[c (d /. {T > T t; »t% h; » hi*})] /.
{ti*ti >0, hy*h; >T-T5 (f:t|h);*(e:t|h); »
If [Position[c, e;1[1, 1] < Position[c, f;][1, 11, T-1, 1-T*]}
I
UnitaryQ[y 7] := Module[{vs},
vs = Table[-t; + 8¢, @A /. T_- T, {i, y@S}];
And @e FlatteneTable [Simplify [(vs[il, VSIJI),ec = @1, {i, y@n}, {j, re@n}]
];
In[«]:= Unitar‘yQ /@ {Rl)z, ﬁl)z}
Out[«]=

{True, True}

mm[-]-= TForm[y I'] := Module[{M},
M = »[A] // Transpose;
PrependTo[M, t, & /@ »[S]1];
M = Join][
{Prepend[h; & /@ »[S], »[w]ll},
Transpose [M],
{Prepend[y[Z=], If[TrueQ[ConservativeQe@ y A UnitaryQe ], [, H]1]1}
15
Column[{»[c], MatrixForm[M] }]
15
TForm[else ] := else /. y I' =» TForm[y];
Format [y I, StandardForm] := TForm[y];
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1= {Ry,25 Ry 2}
Out[«]=

t,, t1, hy, h
tty, ts, hy, hy) {t2, t1, hy, hy}

1 h hy
1 h h
1 2 t, 1 @
T 1-Ta, 1T, 1 }
t, 8 1 t = 4
[ I A m 1 =
T1

In[«]:= dmi_j_-»k_[)”_r] i= MOdUJ-e[{a) b, ¢, d, 6, €, ¢, ¥, B, u},

aboe Ot,,h, rea ati:hj rea O, rea
cde|=|0,h @A B¢, h y@L O, y@A| /. (t|h);;->0;
oY E ahi y@eA ahj Y@eA Y@eA

I'Collect [I‘ [ <|

¢ - DeleteCases|[r@c, h; | t;] /. {ti > tr, hj > h.},
w-> (u=1-c) yew,

o - hy (6p, 0) (ahjo) + (o /. hi|j—>0),

b+ad/u 6+ae/pu
Yy+do/u BEved/pu

b] 7o (T T T T}

A - {ty, 1}.( )-{hkx 1}

s

m[-]:= T /: RotateLeft[T'[a ], n___] :=T@ReplacePart[a, Key@g -» RotateLeft[a@g, n]]

ii-1- {Table[RotateLeft[Ry,,, k], {k, @, 3}], Table[RotateLeft[Ry,,, k], {k, @, 3}]}

out[e]=
{tl) tz, hl) hZ} {tz, hl: h2) tl} {hl.v hZJ tl: tZ} {h2) t1) tZJ hl}

1 h h 1 h b 1h h 1 h hy

H ty T, 1-Ta |, |, © 1 L lta T 1-T |, [t 1-T Ty },
t, @ 1 t, T, 1-T, t, @ 1 t, 1 o
Bl T ml T m1l T m 1 T

{ta, t1, hy, hy}  {ty, hy, hy, to}  {hy, hy, Ty, t1}  {hg, t, t1, hy}

1 hy hy 1 hy h, 1 h,y h, 1 hy hy
t, 1 () t, -1+T, 1 t, 1 0 t, © 1
{ g, 1T 1 ) T T O P U (N S PSR R T3 }}
2 T, 0N t, 1 @ e 27, T
1 1 1 1
m 1 . m 1 . m 1 . [ | )

http://drorbn.net/AcademicPensieve/Projects/MetaCalculi/#MathematicaNotebooks



Dror Bar-Natan: Academic Pensieve: Projects: MetaCalculi: UnitaryGamma-FindingL0.nb 2023-02-01 09:23:57

ml-1:= T /: Insert[yl Iy, y2 'y R_] :=Te@«|
¢ » Flatten[Insert[)yle@c, y2@c, R]],
w- ylew y2ew,
o- yl@o + y2@o,
A YI@RA + y2@A
|>
T /: Insert[y2 'y R 1[x1_1I] :=Insert[y1, »2, R]

in[-]:- ComposeList[{Insert[Rs 4, 5], Insert[Rs s, 9], dm; 3,5, dmy 4,1, dmy 5,1, dmy 6,2, dMy 1,5},
R1,2]
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out[e]=

{t1, ty, hy, hy, t3, ts, hs, hy}

{t1, t2, hy, hy} 1 hy hy hy hy
1 h, h t, T, 1-T, @ ©
{ t 1 1-T|, |[t, @ 1 @ @
t, @ 1 t; 8 0 T3 1-Ts
w1 t, 8 o o 1
|1 T, 1 T3
{t1, T2, h1, hy, T3, t4, h3, hy, ts5, ts, hs, he}
1 h hy, hy hy he hg
t, T, 1-T1 © 0 0 0
t, 8 1 o o o o
t3; © @ T, 1-Ts 0 0 ,
t, © 0 0 1 (%} 7]
ts © 0 0 0 Ts 1-Tg
tg © 0 0 0 0 1
B 1 T, 1 T3 1 Ts
{t1, T2, h1, ta, hy, hg, ts, te, hs, he}
1 h h, h he
ti T1 - ((=1+T1) T2) (-1+T1) (-1+T3) ©
t, o T, 1-T, )
t, o ) 1 )
ts 0 ) ) Ts 1
t; © ) ) )
m o 0 0 0
{t1, t2, hy, hy, ts, te, hs, he}
1 hy h, he  he
ty —((-14T) Ty) 1-Ty+T,T, © @
t, T, 1-T, @ e |,
ts ) ) Te 1-Ts
te ) ) 0 1
m ) ) o o
{t1, T2, hz, te, h1, he}
1 hq h,
t: - ((-1+Ty) T2) T (1-Tp+T1Ty)
t2 T, -T1 (-1+Tp)
s 0 0
- ) )
{t1, T2, h1, hy}
1 hy h,
t: Ta (3-To+TaTo) - ((-1+T1) (1+T1T2)) |,
t, -T, (-1+T,) 1-T1+T1 T,
- ) )

he

S ((-1+T1) (-T2 +T1Ty))
(*1+T1) (*1+T2)

T, (1-To+T3) hy

1
{ty, hy}
t,
[ |

1
%]

J
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inl-1:= ¢@ = {ty, hy, tg, hg};
SO = Cases [qe, ti 1’]
Out[e]=
{2, 6}

in[-1:= Table[-t; + Sum[a; i hy, {k, S@}], {i, SO}]
Out[e]=
{-ta+hyaz2+hsaze, —te+hyas2+hsas,6}

mi-1- us = FlatteneTable[u;,j, {i, SO}, {j, SO} ]
Out[«]=

{Uz,2, Uz,6, Us,25 Us,s}

in[-1:- eqns = Flattene

2023-02-01 09:23:57

Table[(-t; + Sum[a;,, hy, {k, S8}1, -t; + Sum[uj, hc, {k, se}])Ca =0, {i, S0}, {j, Se}]

out[e]=
a2 a6 dz,2 Uz 2
{—32,24- —aye+ +U2,2—TU2,2—7 +Ta2,2 Uz, +
T T
d,6 U2,2 2,6 U2,6
A,6Uz,0- ——— +Uye-TUyg-az2Uze+TaA22Uy6-——— +TaxelUze =0,
T T
2,6 az,2 Us,2
~1+T+ay,-Tay,-aze+ o +Ug,2 - TUg 2 - ———— +Taz,Us,2+az6Us,2 -
az,6 Ug,2 az,6 Us,6
—— +Ug6—TUse—-a2,0Ug 6+ TaA2,0Us,6———— +TayelUs,6 =9,
T T
1 3s,2 36,6 Uz,2  @6,2U2,2
1-— —dg,2 + - dg,6 + *U212+ - +Ta6’2 u2,2+36,6 Uz,zf
T T T T T
36,6 U2,2 36,6 U2,6
——— +Uze-TUye-3s,2Uz,6+Ta6,2Uz,6 - ——— +Tagelze=0,
T T
de,6 Us,2 de,2 Us,2 36,6 Us,2
36,2 -Tag,2 — 36,6 + - Ug,2 + -—— +TagoUg,n+36,6 U0~ ———
T T
96,6 Us,6
Us,6 — T Ug,6 — @6,2 Us,6 + T 35,2 Us,6 — f + T ag,6 Ug,6 == 9}

in[-1:= {sol} = Solve[eqgns, us]

Out[«]=

2 12
{{uz, 2> - ((T-az6-Tag2+32,68,2-Tas,6-32,2366) / (-T+T°-T @y +az6+Tag,2-

2 2 2
32,6 @6,2 -~ T 32,6@6,2 - T° 32,6 36,2~ T° 6,6 +32,286,6 + T32,236,6 + T~ 2,2 36,6) ) 5

U2,5 - - ( <—T+Taz,2 +Tas)2 +Taz,6 36,2 +Tas)6 —Taz,z a6,6) / (—T+T2 —T2 az,z + 32’6 +

2 2 2
Tas,2-32,636,2-Ta2,686,2- T 82,636,2- T  A6,6+32,23,6+ T 32,236,6+ T 32,236,6) ) »

2 2
Ug,2 > (T(T-Tayz-a26-Ta2,68,2-Ta,6+Ta2,286,6)) / (-T+T =T ay,+ay6+

2 2 2
Tag,o-a636,2-Ta2,6d,2-T A2,636,2— 1 36,6 +32,23,6+132,23,6+ 1 32,2 36,6))

2 2
u6,6% —((—T+Ta2,2+a2)6+Ta6,2—az,6 35)2-*-32)2 as)s> / (T—T +T azjz—az)G—TaG’2+

2 2 2
A2,686,2+ T A2,636,2+ T 83,636,2+ T Q6,6 -A2,236,6— 1 A2,236,6— 1 32,2 as,s) ) }}
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1= Flatten@Table[u;,; » Factor[u; j /. sol], {i, S}, {j, S}]
Out[«]=
{UZJZ > - ( (-T+axe+Tas,,-a26a,2+ T as,6+a2,23,6) / (T ~T*+T?ay,,-a6-Tae,,+
a2,636,2+ Taz,6a6,2+ T 32,68,2+ T 86,632,266~ 132,286,6 - T 32,2 36,6 | »

Uz,6 = (T (1-2,- 86,2~ 32,6 36,2 — 36,6 + 32,2 36,6) ) / (- T+ T2 -T?ay,+as,6+Tag,2-
A2,636,2 — T A2,6 36,2 — T A2,6 36,2 — T2 36,6 +A2,2 36,6+ T A2,2 Ag,6 + T a2 36,6) s

Us,2 = (T(T-Taz,-a26-Tazea,2-Tage+Tazzas6)) / (-T+T -T2 ay,+az6+
Tag,o-a,63,2-Taz,6,2 - T 3,6 36,2 — T2 36,6 +A2,2 36,6 + I 2,2 35,6 + T a,» as,s) s

Us,6 > (-T+Tay +ay6+Ta,2-8268,2+82,286,6) / (-T+T>-T>ay,+ay6+Tag2-

2 2 2
32,6 36,2 - T@2,636,2-T°32,686,2- T 36,6+ 32,286,6+ T32,286,6+ T~ 32,2 36,6 |

ii-1:- Sum[Factor[us,j /. sol] t; hy, {i, S}, {j, S}] // Together
Out[]=
(Thyta-Thgty-T hytg+ Thete+ Thgtaas s+ TP hyteaz, - Theteazs -
hytraz,6+Thateazs-hetsazs-Thatyas,a+Thetras, 2~ Thetsas,2+hytsazeas, 2+
The tz 2,6 86,2+ T> ha te a2,6 3,2 + he t a2,6 36,2 - Thata @66 + The ty ag,6 +
T%hy tg as,6 - N2 t2 32,2 36,6 - The t2 32,2 36,6 - T2 ha te 32,2 36,6 — N t6 a2,2 36,6) /
(T- T2 +T%ay,2-a2,6-Tas,2+2,6a6,2+Ta26a,,+ T a2,63,2+

2 2
T Q6,6 — 32,2 36,6~ T 32,2 36,6 - T~ 32,2 36,6

mi-1=  L8[¢_] := Module[{S, us, eqns, sol},
S =Cases[c, t;_ = 1i];
us = FlatteneTable[u;, j, {i, S}, {J, S}];
eqns = Flattene
Table[(-t; + Sum[a; i h, {k, S}], -tj+Sum[uj h, {k, 5}])6 =0, {i, S}, {J, S}];
{sol} = Solve[eqns, us];

Sum[Factor [u;, j /. sol] ts hj, {i, S}, {J, S}]

]

inf-]:= LO[{ta, hy, te, he}]
Out[«]=
- ((hyty, (-T+a Tag,-a,ea Ta a,,a T-T*+T?a,,-a,¢-Ta
(haty (-T+az,6+Tas,2-32,63,2+T36,6+32,23,6)) + 2,2~ 32,6 6,2+
2 2 2
32,6 36,2+ T@2,636,2+ T°2,686,2+ T 86,6~ 2,286,6 - T32,286,6 - T~ 32,286,6) ) +
(hG t6 (—T+Taz,2+a2,6+Ta6)2—32,6 de,2 +A2,2 a6,6)>/(,T+T2,T2 az)z+az,6+Ta6)2—
2 2 2
32,6 @6,2 - T32,6@6,2 - T°22,66,2~ T° 6,6 +32,286,6+ 132,286,6+ T~ 2,2 86,6) +
2 12
(Thety (1-a3,5-a6,2-32,63,2~ 3,6 + 32,2 as,s))/<—T+T -T*ay,+aze+Tas—
2 2 2
32,6 6,2 - T32,686,2- T°32,686,2- 1" 6,6+ 32,286,6+ 132,286,6+ T~ 2,286,6) +
2 12
(Thzts (T—Tazlz—az,s—Tast 36)2—T36’5+Taz)2 a6,6))/(_T+T -T az,2+a2,6+

2 2 2
Tag,p-a63,2-Tay6d6,2-T A2,636,2— 1 36,6 +32,23,6+132,23,6+ 1 32,2 36,6)
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in[-]:= LO[{tz, te, hz, he}]
Out[-]=
~((haty (-T+aze+Tas,2-a268,2+Tas6+32,286,6)) / (Taz2-T aze-Tas+
32,6 36,2+ Ta2,636,2+ T° a2,63,2+ 1" 36,6~ 32,286,6 - Ta2,236,6 - T~ 32,2 as,6) ) -
(hate (-T?+Tay,+Taze-Tas2+T @,2+82,686,2+ T 6,6~ 2,236,6) ) /
(-Taz,+T? a6+ Tag,2-a2,636,2- T 82632 -

T2 a,6 36,2 — T 36,6 + 32,2 6,6+ 1 2,2 36,6 + T a,» aG,G) +

(Thete (-T+az,2+a2,6+Tas,2-a2,636,2+32,236,6)) / (-Taz2+T a6+ Tas,2-
32,6 36,2 - Ta2,636,2- T° a2,63,2 - T- 36,6 +32,286,6+ Ta2,23,6 + - 32,2 a6,6) +

(hety (T-ay2-a6+Tase-Tag,o-Tazesas,2-Tase+1Ta22a66)) / (*T Ay + T A6+

2 2 2
Tag,2-32,6a6,2 - TA2,686,2- T 82,636,2-T° 6,6 +32,236,6+ T 32,236,6+ 1" 32,2 36,6)

mi1= L0, [A_] i= Factor[L£O[c] /. @i ,; = Ot ,n, A ]

imi-1- ¥@ = Ria,1 // Insert[RotateLeft[Ry,7, 1], 4] // dmy 5, // Insert[RotateLeft[Re, 13, 11, 7] //
dmyz 13,12 // dmg 7,6 // Insert [Es,s: 5] // dmy 3, // dmg,g,6 // Insert[Rya,9, 6] //
diy; 14,12 // dmg 9,6 // Insert [RotateLeft [Ra,11, 1], 4] // ding,as1 // dMyg 15,10

Out[«]=

{t1, h1, t11, hig, he, te)
“142 Ty -T2-T; Te+T2 Tg+T11-2 Ty Tag+T2 Ty 4T3 T Tyg

hy he
3T Tu
t (1-T1+T1 Tg) Toy (-1+T;1) (1-T;+T; T
1 “142Ty-T2-Ty Te+T2 Tg+T11-2 Ty Tag+T2 Ty 4T3 Te Tya “142Ty-T2-Ty Te+T2 Tg+Ty1-2T, T
t (1-T1+T1 T) (~1+Ta1) TiTe T
6 “142Ty-T2-Ty Te+T2 Tg+T11-2 Ty Tag+T2 Ty 4T3 Te Tya “142Ty-T2-Ty Te+T2 Tg+Ty1-2T, T
t Ty (-14Te) Te Tra (-14Tg) Tay (-1+2Ty-T§+Ty-2Ty
1 “142 Ty -T2-Ty Te+T2 Tg+T11-2 Ty Tag+T2 Tyg 4T3 Te Tyg 142 T;-T2-T; Te+T2 Te+T11-2 Ty
[ | 0 (%}

in[-]:= lhs = LO.0(¢] [Ya [A] /. T_ - T]

Out[«]=
1

T2 (-3+4T-3T2+7)

(-Thyty+ TP hity - T hyty + Thety -4 T2 hgty + 5T ety -3 T hg ty + T hg ty - Thyy ty +
2T?hy t; - 2T hypty + T hy ty - Thite+ TP hytg - 2hgtg+ 6 Thetsg - 10 T> hgtg + 8 T> he tg -
4T4h6t6+T5h6t6+2h11t6—5Th11t6+6T2h11t6—4T3h11t6+T4h11t6—T2h1t11+
2T3h1t11*2T4h1t11+T5h1t11+Th5t11*2T2h6t11+2T3h6t11*T4h6t11*Th11t11>
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ii-J:= rhs = Factor [y@[A] /. T_-T7]

Out[«]=
1
T2 (-3+4T-3T2+T%)
(*T2h1t1+T3hltl*T4hltl+Th6t1*4T2h6t1+5T3h6t1*3T4h5t1+T5hﬁtlfTh11t1+
2T?hy t; 2T hygty + T hy ty - Thite+ TP hytg - 2hgtg+ 6 Thets - 10 T> hgtg + 8 T> hg tg -
4T4h6t6+T5h6t6+2h11t5—5Th11t6+6T2h11t5—4T3h11t6+T4h11t6—T2h1t11+
2T3h1t11—2T4h1t11+T5h1t11+Th6t11—2T2hstll+2T3h6t11—T4h6t11—Th11t11
in[-]:= lhs == rhs
Out[«]=

True

in[-]:- Together[LO@ {ti, hy, ti1, hi1, he, te}]
out[e]=
(Thety-T?hety - Thyyty + T2 hyty - Thete + TP hgte + Thyyte - T hyytg - Thetyar; + TP hgtyag,q +
Thyptiag, - T2 hi ta ai,1 - T? he te ai,q + T2 ha; te a1+ Thetiga,1-Thyytiia,1+Thytiage-
T2 hy t1 di,6 + T hy te a;e+ T he te d1,6 — T he te a;e—T hy1 te d1,6 — T2 hy ti1 a;e+ T hyy tia ai,e —
hitia1,11+Thitia,11 -Thyteag,11+ Theteag, 11+ Thytigas,11 - The tig a1,11 - hig tag a1,11 +
Thyg tig a1 + T? he t1 36,1 - T2 hi ta Ag,1 — T? he tna 3,1 + T2 hyg toa ag,1 - Thetya,6ae,1+
T2 he ty a1,6 36,1+ Thist1a1,6 36,1 - T° he te a1,6 @s,1 + T° he te a1,6 @1 + T> 11 te a1,6 36,1 +
T> hy tyg 81,6 6,1 + The ta a1,6 @6,1 — Thig t11 a1,6 @6,1 - T2 h1g tag @1,6 6,1 - T he ty ar,11 36,1 -
T2 he te a1,11 @6,1 - T hy t11 a1,11 36,1 + The tig @111 36,1 + T2 hg t11 a1,11 36,1 — T2 Ny t11 31,11 36,1 -
T?hyitias,6 - Thetiase+ T hetias,6+ Thistiase+Theteas,s-2T hgteag,e+ T hgteas,s -
This teag,e + T2 hig te @s,6 + T> hy ti1 @6,6 — T2 h11 t11 36,6 + The tia1,1@6,6 — T2 he t1 a1,1 36,6 -
Thyitias,:ae,6+ T heteas,1as,6- T hetsar,1as,s - T>histear, 16,6~ T hytyaisae,e-
Theti1a1,1 86,6+ Thistig a1 86,6+ T2 hiytas ai,1 6,6+ hy ty a1,11 36,6 + Thy te ar,11 36,6 -
Thy tiy 81,11 36,6 - T?hy tnn a1,11 36,6 + T hg t11 @1,11 86,6 + h11 t11 81,11 @6,6 + Thy T1 86,11 -
The t1a6,11 + T he te as,11 - T? he te 36,11 — T?hy tnn 36,11 + T2 he t1a ag,11 + T h11 t11 36,11 -
T hi1 t11 36,11 + The t1 31,1 36,11 + T2 he te a1,1 36,11 + T? hy t11 31,1 36,11 — T he t11 a1,1 36,11 -
T? hg t11 @1,1 @6,11 + T2 11 ta 31,1 36,11 - h1 t1a1,6 36,11 — Thyte ai,6 36,110 + Thy tig a1,6 36,11 +
T2 hy 11 31,6 86,11 ~ T he t11 31,6 @6,11 ~ N11 t11 31,6 @6,21 - The t1a11,1 + Thiy ty @111 + The tea,: -
Thiyyteair,1 -Thitiasan, + T hy ty a1,6 A11,1 — T2 his ta a1,6 A11,1 — T2 h; te a1,6 A11,1 —
Thgteai,eai1,1 + Thig teas,ea11,1+ T has te A1,6 A11,1 — T h11 t11 31,6 @11,1 + hy 1 @111 A11,1 -
Thytyag,1am1,1+ T Netyas,11 11,1 + This tyas,10 811,10 - TP hay ty @3 10 811,10 + Thy teas,n a1 -
Theteay,11a11,1 - T he te @111 @111 + T2 hug te @111 @11,1 + T he tas 1,11 @11,1 + hag tag @1,101 11,1 -
Thyy tag @111 a11,1 + L ag,6 a11,1 + T he t1 86,6 @11,1 — T hyy t1 @6,6 811,1 - T hita 36,6 11,1 —
T hg te 6,6 a11,1 + T? he te 36,6 a11,1 + T h11 te 6,6 @11,1 + T2 hay taa 36,6 a11,1 — h1 t1 a1,11 36,6 311,1 -
T2 he t1 a1,11 36,6 A11,1 — T hip tq d1,11 36,6 A11,1 — T hy te a1,11 96,6 A11,1 — T he te d1,11 96,6 11,1 —
T? hiq te @1,11 @6,6 11,1 - T° N1 t11 31,11 36,6 @11,1 - T N6 t11 31,11 @6,6 11,1 — h11 11 @1,11 36,6 A11,1 -
Thyty@6,11 @11,1 + The t1 @6,11 a11,1 + T? he t1 @6,11 @11,1 - T> 11 t1 36,11 311,21 - T he t6 36,11 ai1,1 -~
T? he tia ap,11 A11,1 — T h11 t11 86,11 A11,1 + T2 hyy toa ap,11 a11,1 + h1 t1 81,6 36,11 812,71 +
T2 he t1 A1,6 36,11 @11,1 + T 13 t1 31,6 36,11 A11,1 + T h1 t6 31,6 A6,11 A11,1 + T he ts 31,6 36,11 A11,1 +

2 3
T hy; te a1,6 @6,11 @11,1 + T~ 1 t11 31,6 36,11 A11,1 + T e t11 A1,6 36,122 A11,1 + N11 t11 31,6 36,12 A22,1 +
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T hy ty A11,6 - T2 his ta A11,6 — T2 h; te Ai1,6 + T2 his te ay,e+ Thityag,1a1,6- T2 hy ts a1,1 11,6 +

T higs ti a0 a11,6 + T2 hy teai1,1a11,6 + The tea1,1 @11,6 - Thiy teas,1 a11,6 - T hi1 tea1,1 a11,6 +

Thystigag,1811,6 - T2 hytyag,11 @11,6 + Thytgas,1n a11,6 + T2 hy te a1 11 @11,6 - T2 e te a1,11 11,6 -

Thiiteas,1na11,6 - T2 hytis @111 811,6 - T2 hat1 3,1 @116 - The t1 a6 1 @116 + This ti ag,1 a11,6 +

T hita ag,1 a11,6 + T he te A6,1 a11,6 - T? he te ag,1 a11,6 — T h11 te 36,1 @11,6 - T? hyg tag d6,1 A11,6 +

hy t1 a1,11 36,1 @11,6 + T’ he t1 a1,11 86,1 A11,6 + T h11 1 81,11 @6,1 A11,6 + T h1 te @111 36,1 11,6 +

T? he te a1,11 6,1 A11,6 + T2 N11 te 31,11 @6,1 11,6 + T° hy t11 1,11 36,1 @11,6 + T he t11 a1,11 36,1 A11,6 +

hi1 t11 81,11 @6,1 311,6 - T hy t1 @6,11 11,6 - T2 hy t1 ag,11 A11,6 + T° he t1 36,11 A11,6 +

T hyy t1 86,11 @11,6 + T h1 te 86,11 311,6 - T2 he te 36,11 A11,6 + T he te a6,11 A11,6 — T h11 te 36,11 @11,6 +

T2 hi1 te 6,11 A11,6 + T hytnn a6,11 A11,6 — h1 t1 31,1 36,11 @11,6 - T2 he t1 a1,1 36,11 A11,6 —

Thyy t1@1,1 36,11 @11,6 - T h1 t6 31,1 36,11 311,6 - IN he te a1,1 36,11 311,6 - T h11 te @1,1 36,11 A11,6 -

T hy ti1 81,1 36,11 11,6 - T he t1a 31,1 36,11 311,6 — N1 t11 1,1 36,11 @11,6 - Thy ty ags 10 +

T2 hg tq @1,11 + Thig ty @1,10 - T2 hag ty @11,01 + Thyte aia,11 - T2 he te asa,11 - Thys te a1 +

T2 hi1 te ai1,11 - h1t1 81,1 811,11 + Thytya1,1 311,11 - T? he ta ay,1 a11,11 - T hiptiag,1 811,11 +

T2 hay ts A1,1 311,11 - Thiteas 1 a11,11 + Theteas,s Az 11 + T he ts a1,1 311,11 T? has te a1,1 311,11

The tis a1,1 811,110 - hag tag @1,0 811,10 + Thag tag @11 @1a,11 + TP hy ty 83,6 @11,21 - Thy te as,6 a1, 11 -

T2 hy te a1,6 11,11 + T2 he te a1,6 11,11 + Thiy te a1,6 @11,11 + T2 hy tag @16 @11,11 + Thy ty ag,1 a11,11 -

Thg t1 @6,1 @11,11 - T’ he t1 Ag,1 A11,11 + T hita a6,1 a11,11 + T hg te @6,1 @11,11 + T? he tna Q6,1 A11,11 +

T hyg t11 36,1 311,11 - T2 hag taa 36,1 A11,11 - h1 t1 a1,6 36,1 311,11 - T? he t1 a1,6 Ap,1 311,11 —

Thyy t1a1,6 36,1 @11,11 - T h1 t6 31,6 36,1 A11,11 - IN he te 31,6 36,1 A11,11 - T h11 te a1,6 36,1 11,11 -

T hy tig 81,6 @6,1 @11,11 - T he taa @1,6 36,1 @11,11 — N1 ta1 1,6 36,1 311,11 + T h t1 @66 A11,11 +

T2 hy t1 @6,6 11,11 - T2 he t1 6,6 311,11 ~ T h1a t1 36,6 @11,11 - T ha te a6 a11,11 + T° e te 36,6 a11,11 -

T he te ap,6 a11,11 + T h11 te a6,6 811,11 - T2 hi1 te 36,6 A11,11 — T hytn a6,6 a11,11 + h1 t1 31,1 36,6 311,11 +

T2 he t1 A1,1 36,6 A11,11 + T 13 t1 31,1 36,6 311,11 + T h1 t6 31,1 36,6 311,11 + T he ts 31,1 3s,6 A11,11 +

T2 hi1 te ai1,1 dg,6 A11,11 + T hytnn a1,1 36,6 11,11 + T he t11 81,1 36,6 a11,11 + D11 t11 31,1 36,6 a11,11) /
(T a6 -T a6 -a1,110+Ta,11+T°a1,636,1 - T°a1,1136,1- T 36,6+ T> 6,6 - T~ a1,1 36,6 +

a1,11 36,6+ Tag,11 - T2 6,11 + T2 1,1 36,11 ~ 31,6 6,11 ~ T 31,6 A11,1 + A1,11 A11,1 + T~ 6,6 A11,1 —

a1,11 A6,6 A11,1 — T A1,11 36,6 A11,1 — T a1,11 ds,6 A11,1 — T a1,11 ds,6 A11,1 — T 36,11 A11,1 + 31,6 36,11 A11,1 +

Tai,e 6,11 A11,1 + T a1,6 Ap,11 A11,1 + T A1,6 6,11 A11,1 + T A1,1 A11,6 - T a1,11 A11,6 — T2 36,1 A11,6 +

a1,11 36,1 A11,6 + T 31,11 36,1 A11,6 + T d1,11 96,1 A11,6 *+ T di,11 de,1 11,6 + T3 de,11 d11,6 —

a1,1 36,11 @11,6 ~ T 31,1 86,11 11,6 — T~ 31,1 36,11 A11,6 ~ T° 31,1 36,11 A11,6 — A1,1 11,11 + T~ A1,6 A11,11 +

T ag,1 11,11 -~ 31,6 36,1 A11,11 ~ T 81,6 36,1 311,11 ~ T~ 1,6 36,1 311,11 ~ T~ A1,6 36,1 11,11 —

3 2 3
T° @6,6 11,11 + @1,1 36,6 811,11 + T 81,1 @6,6 311,11 + T~ 31,1 36,6 11,11 + T° 31,1 36,6 11,11 )
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